
by The Campus League of Puzzlers

Solution to The Honeycomb :
This puzzle is a Slitherlink on a hexagonal grid. Solving the puzzle produces the image shown below.
The answer spelled out by the continuous path is BUSY BEE. Congratulations to Keita, Justin A. & David
A., and Aaron Szasz, who were the first three to submit the correct answer to last week’s puzzle on our
website.
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This column is the eighth in our ongoing series.
(You can find an archive of past columns on our web-
site). Solving the puzzle requires extracting an AN-
SWER, whichwill be a common Englishword or short
phrase. It should become clear when you’ve found
the answer. This puzzle is a re-run of a puzzle that
was written for the 2012 Daily Cal special puzzle is-
sue. When you think you know the answer, submit it
on our website (http://puzzle.berkeley.edu).

Week 8: Rung by Rung

Delay every saint at the beginning
Distiller, essentially!
Orca scream sounded
Pasta leftover content is not fresh
Rock heals mess
South Korean capital will omit western craft

https://www.facebook.com/CalPuzzlers
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